entropy = 0.0
Samples =5
value = [0, 2, 0]

4

X[1] <= 0.75
entropy = 0.667
samples = 105
value = [35, 35, 35]

entropy = 0.0
Sal’ﬂp|eS - 35

value = [35, 0, 0]

X[0] <= 4.75
entropy = 0.5
samples = 70

value = [0, 35, 35]

4

entropy = 0.0
samples = 30
value = [0, 30, 0]

entropy = 0.219

samp|es —'40

4

X[0] <= 4.95
entropy = 0.5
Samp|eS -8

value = [0, 4, 4]

value = [0, 5, 35]

entropy = 0.444
SampleS A
value = [0, 2, 4]

4

entropy = 0.061
Sal’\’1p|eS =32
value = [0, 1, 31]

entropy = 0.444

N

Samples =3
value = [0, 1, 2]

entropy
samples

=0.0
=29
2

value = [0, 0, 29]




